
DZ2805.PDF 01/27/98 Page 1

 Mud Flap Installation Instructions
DZ 2805

(1999 - Current) Ford Superduty Dually Mud Flap
F150 / F250 / F350

Congratulations on your purchase of a quality Dee Zee product.
Dee Zee is recognized as having the highest quality running boards
and accessories on the market today.  We have earned this reputation
by offering our customers a product they can be proud to place on their
vehicles.  Dee Zee meets all the criteria of manufacturing a custom-fit
product which  guarantees it to be the easiest product to install.

TOOLS REQUIRED:
10mm Wrench
13mm Wrench
Phillips Screwdriver
Regular Screwdriver
Locking Pliers
Drill with a set of bits

the product is improperly installed.
NOTE: Not responsible for damages to the body of the vehicle if

INSTRUCTIONS:  Please take time to read all instructions carefully
before beginning installation.

PARTS LIST: QTY
Britetread Mud Flaps (A) .............................................................. 2
Mounting Brackets (H) ................................................................. 2
Hardware Bag ............................................................................... 1

Step 1
Using the drawing below as a guide, locate the existing bolt on the rear inner fender well and remove this bolt and nut using
a 10mm and 13mm wrench.

Britetread
 Mudflap

Ratchet
Fastener

Mounting
 Bracket

1/4" Locknut1/4" Washer
1/4" Hex
Head Bolt

Fenderwell Clip
Sheet Metal Screw



DZ2805.PDF 01/27/98 Page 2

Step 2
Using the drawing below as a guide, place the mounting bracket (H) into place as shown and then replace the existing nut
and bolt.

Step 3
Using the drawing below as a guide, locate and remove the ratchet fasteners in the fender well using a regular screwdriver
and locking pliers.  Once these have been removed, discard them.

Step 4
Using the drawing below as a guide, place a fenderwell clip
(G) onto the fenderwell lip as shown at each of the loca-
tions.

Fender Well Clip (G)

G

G



DZ2805.PDF 01/27/98 Page 3

Step 5
Using the drawing below as a guide, locate the phillips head screw at the bottom of the inside rear fender well and remove
it using a phillips head screwdriver.  Do not discard it, since it will be used in Step 6 to locate and attach the britetread mudflap
to the rear fender well.

Step 6
Using the drawing below as a guide, place the phillips head screw through the pre-punched hole in the britetread mudflap
and into the existing threaded hole in the rear fender well.

Step 7
Using the drawing to the right as a guide,  place sheet metal
screw (F) through the britetread mudflap (A) and into the
fenderwell clips (G) which were installed in Step 4.
Secure into place using a phillips head screwdriver.

Now place a 1/4" hex head bolt (C) through the existing
hole as shown in the drawing to the right.  The
1/4" hex  head bolt (C) will go completely through the
britetread mudflap (A) and the mounting bracket (H)
installed in Step 2.  Secure into place using a
1/4" flat washer (D) and 1/4" locknut (E).  Tighten until
snug using a 13mm wrench.

(A)



DZ2805.PDF 01/27/98 Page 4

**If you should incur any problems with the installation of this product, please feel free to call us at 1-800-779-8222.
  So that we may better serve you when you call, please have the W/O#, SEQUENCE#, and the DATE

from the labels on the outside of the box.

Step 7
Using the drawing below as a guide, drill a 1/4" hole through the britetread mudflap (A) and the plastic of the inner fender
well.

Step 8
Using the drawing below as a guide, place a ratchet fastener (B) through the drilled hole in the britetread mudflap (A) and
the plastic of the inner rear fenderwell.  Press  the ratchet fastener (B) firmly into place.

Repeat Steps 1 through 8 for the passenger side of the vehicle.


